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TUB-test chart UE72; Colour threshold data: Kittelmann
Comparison with CIELAB and CIE DE2000

input: w/rgb/cmyk −> rgbd
output: transfer to rgbd

http://130.149.60.45/~farbmetrik/UE72/UE72L0NA.TXT /.PS; transfer output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 2/3

see sim
ilar files: http://130.149.60.45/~

farbm
etrik/U

E
72/U

E
72.H

T
M

technical inform
ation: http://w

w
w

.ps.bam
.de or http://130.149.60.45/~

farbm
etrik

T
U

B
 registration: 20130201-U

E
72/U

E
72L0N

A
.T

X
T

 /.P
S

T
U

B
 m

aterial: code=
rha4ta

 application for m
easurem

ent of display output, no separation



 

  

  

 
UE720−7N

UE720−1N_3

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y]

for achromatic colours
in WN-direction

dY=A1[1+A2/A1Y]

xr dYn Y
−1.0 0.0411.8
−0.5 0.054 5.6
0.0 0.097 18.0
0.5 0.231 56.9
1.0 0.657 180

UE720−2N_3

0,25
  1,8

0,75
  3,6

1,25
  18

1,75
  90

2,25
 180

xy=log[Y]
Y

A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y]

for achromatic colours
in WN-direction

dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.0410.25
−0.5 0.054 0.75
0.0 0.097 1.25
0.5 0.231 1.75
1.0 0.657 2.25

UE720−3N_3

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y] dY=A1[1+A2/A1Y]

xr dYn Y
−1.0 0.0411.8
−0.5 0.054 5.6
0.0 0.097 18.0
0.5 0.231 56.9
1.0 0.657 180

Sn=dYCIELAB/dYJND=8.4

−1.0 1.8
−0.5 5.6
0.0 18.0
0.5 56.9
1.0 180

dYCIELAB

dYJND

DE2000

CIELAB

UE720−4N_3

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y] dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.0410.25
−0.5 0.054 0.75
0.0 0.097 1.25
0.5 0.231 1.75
1.0 0.657 2.25

Sn=dYCIELAB/dYJND=8.4

−1.0 0.25
−0.5 0.75
0.0 1.25
0.5 1.75
1.0 2.25

dYCIELAB

dYJND

DE2000

CIELAB

UE720−5N_3

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y] dY=A1[1+A2/A1Y]

xr dYn Y
−1.0 1.8
−0.5 5.6
0.0 18.0
0.5 56.9
1.0 180

Sn=dYCIELAB/dYJND=8.4

−1.0 0.02 1.8
−0.5 0.045 5.6
0.0 0.097 18.0
0.5 0.209 56.9
1.0 0.451 180

dYCIELAB

dYJND

DE2000

CIELAB

UE720−6N_3

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y] dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.25
−0.5 0.75
0.0 1.25
0.5 1.75
1.0 2.25

Sn=dYCIELAB/dYJND=8.4

−1.0 0.02 0.25
−0.5 0.045 0.75
0.0 0.097 1.25
0.5 0.209 1.75
1.0 0.451 2.25

dYCIELAB

dYJND

DE2000

CIELAB

UE720−7N_3

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y] dY=A1[1+A2/A1Y]

xr dYn Y
−1.0 1.8
−0.5 5.6
0.0 18.0
0.5 56.9
1.0 180

Sn=dYCIELAB/dYJND=8.4

−1.0 0.032 1.8
−0.5 0.059 5.6
0.0 0.097 18.0
0.5 0.303 56.9
1.0 0.958 180

dYCIELAB

dYJND

DE2000

CIELAB

UE720−8N_3

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)

−2,0

−1,5

−1,0

−0,5

  0,0
log [dY, ∆Y] dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.25
−0.5 0.75
0.0 1.25
0.5 1.75
1.0 2.25

Sn=dYCIELAB/dYJND=8.4

−1.0 0.032 0.25
−0.5 0.059 0.75
0.0 0.097 1.25
0.5 0.303 1.75
1.0 0.958 2.25

dYCIELAB

dYJND

DE2000

CIELAB

UE721−1N_3

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn Y
−1.0 0.041 1.8
−0.5 0.054 5.6
0.0 0.097 18.0
0.5 0.231 56.9
1.0 0.657 180

[∆Y]/dY = ∆E*LABJND
for achromatic colours
in WN-direction

UE721−2N_3

0,25
  1,8

0,75
  3,6

1,25
  18

1,75
  90

2,25
 180

xy=log[Y]
Y

A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.041 0.25
−0.5 0.054 0.75
0.0 0.097 1.25
0.5 0.231 1.75
1.0 0.657 2.25

[∆Y]/dY = ∆E*LABJND
for achromatic colours
in WN-direction

UE721−3N_3

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn Y
−1.0 0.041 1.8
−0.5 0.054 5.6
0.0 0.097 18.0
0.5 0.231 56.9
1.0 0.657 180

Sn=dYCIELAB/dYJND=8.4

−1.0 1.8
−0.5 5.6
0.0 18.0
0.5 56.9
1.0 180

[dY]/dY

dYn=dY/Sn
dYn=dY/Sn

UE721−4N_3

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.041 0.25
−0.5 0.054 0.75
0.0 0.097 1.25
0.5 0.231 1.75
1.0 0.657 2.25

Sn=dYCIELAB/dYJND=8.4

−1.0 0.25
−0.5 0.75
0.0 1.25
0.5 1.75
1.0 2.25

[dY]/dY

dYn=dY/Sn
dYn=dY/Sn

UE721−5N_3

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn Y
−1.0 1.8
−0.5 5.6
0.0 18.0
0.5 56.9
1.0 180

Sn=dYCIELAB/dYJND=8.4

−1.0 0.02 1.8
−0.5 0.045 5.6
0.0 0.097 18.0
0.5 0.209 56.9
1.0 0.451 180

[dYn]/dY

UE721−6N_3

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.25
−0.5 0.75
0.0 1.25
0.5 1.75
1.0 2.25

Sn=dYCIELAB/dYJND=8.4

−1.0 0.02 0.25
−0.5 0.045 0.75
0.0 0.097 1.25
0.5 0.209 1.75
1.0 0.451 2.25

[dYn]/dY

UE721−7N_3

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn Y
−1.0 1.8
−0.5 5.6
0.0 18.0
0.5 56.9
1.0 180

Sn=dYCIELAB/dYJND=8.4

−1.0 0.032 1.8
−0.5 0.059 5.6
0.0 0.097 18.0
0.5 0.303 56.9
1.0 0.958 180

[dYn]/dY

UE721−8N_3

−1,0
  1,8

−0,5
  3,6

  0,0
  18

  0,5
  90

  1,0
 180

xr=log[Y/Y18]
Y

A2/A1 = 0.0986
A1 = 0.035 A2 = 0.0034
A3 = 1.141 A4 = 0.853

A5 = 0.2362 Kittelmann_PO5_392A
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn log Y
−1.0 0.25
−0.5 0.75
0.0 1.25
0.5 1.75
1.0 2.25

Sn=dYCIELAB/dYJND=8.4

−1.0 0.032 0.25
−0.5 0.059 0.75
0.0 0.097 1.25
0.5 0.303 1.75
1.0 0.958 2.25

[dYn]/dY

 

 

  

  

  

 

 

 

1−000230−F0

V

C

L

M

O

Y

Y

O

M

L

C

V

V C

L M

O Y

Y O

M L

C V

-8
-6

-8
-6

-8
-6

-8
-6

TUB-test chart UE72; Colour threshold data: Kittelmann
Comparison with CIELAB and CIE DE2000

input: w/rgb/cmyk −> rgbd
output: transfer to rgbd
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